Soil Liquefaction Potential in Different Seismic Zones of Bihar, India

Ishwar Chandra Thakur Civil Engineering Department National Institute of Technology Patna Patna, India ishwart.phd20.ce@nitp.ac.in L. B. Roy Civil Engineering Department National Institute of Technology Patna Patna, India Ibroy@nitp.ac.in

Received: 28 August 2022 | Revised: 8 September 2022 | Accepted: 9 September 2022

Abstract-Liquefaction potential analysis for the liquefiable as well as non-liquefiable soils of Bihar state has been performed in this paper based on the actual field data from three seismic zones, i.e. zone III, zone IV, and zone V. The analysis has been performed following the simplified procedure given in [1] and later modified in [2]. The results show that districts under seismic zone III are comparatively more resistant to liquefaction in most cases, districts of zone IV are relatively more prone to liquefaction up to a few depths, and districts of zone V are most liquefiable. Liquefaction resistance is primarily depending upon the fine content of soil and SPT N-values.

Keywords-standard penetration test; cyclic stress ratio; cyclic resistance ratio; soil liquefaction

I. INTRODUCTION

Liquefaction is the phenomenon in which the strength and stiffness of the soil are reduced by earthquake shaking and/or another dynamic loading. When an earthquake of suitable intensity shakes a deposit of loose saturated coarse-grained cohesionless soils, then the grain structures are triggered towards a more compact packing. However, it is not possible to drain off the pore water because it does not have sufficient time to do so during an earthquake. The pore water pressure then shoots outward because the applied stresses are taken up by the incompressible water and the effective stresses approach zero:

$$\sigma' = \sigma - u \quad (1)$$

where σ' is the effective stress, σ is the total stress, and u is pore water pressure.

In the case of cohesionless soil (c = 0), shear strength (τ) reduces to zero when effective stress approaches zero.

$$\tau = c + \sigma' \tan \phi' \quad (2)$$

where ϕ' is the effective internal resistance of the soil.

Liquefaction is one of the most disastrous seismic hazards. India has experienced the world's greatest earthquakes in the last few decades which lead to soil liquefaction and consequential damages.

Authors in [1] presented a simplified procedure for the evaluation of the liquefaction potential of soil using the

Corresponding author: Ishwar Chandra Thakur www.etasr.com

assemblage of available field data of liquefied or non-liquefied soil during earthquakes. The author in [3] studied the field data from different countries for the evaluation of the liquefaction potential of soil in earthquake magnitude $M_w = 7.5$ and the result was then extended to earthquakes of other magnitudes and for silty soil. Authors in [4] presented a critical review of sandy soil deposits. It was found that the sand that has more than 10% fine content has a much higher resistance to liquefaction than clean sand having the same SPT N value. For clean sands with SPT N₁ values greater than 25, silty sands containing more than 10% fines with SPT N values greater than 20, or sandy silts with more than 20% clay will not undergo any extensive damage. Sands containing gravel particles have lower resistance than the clean sands without gravel for the same SPT N-values. Authors in [5] presented the influence of SPT procedures in the evaluation of liquefaction resistance. They also proposed the curve of liquefaction resistance for sands with the variations of SPT N-values and fines content. Authors in [6] proposed a simple correction factor to counteract the effect of overburden pressure on the results of the Standard Penetration Test (SPT) performed in sands. Authors in [7] studied the possible frequency of earthquakes in India and found that India has relatively higher frequencies of great earthquakes and lower frequencies of moderate earthquakes. Authors in [8] studied the liquefaction potential as per the case history of the Bihar-Nepal Earthquake on 21 August 1988. Based on three prevailing approaches, they found the differences with regard to relative density and depth of liquefaction potential and suggested further research. Authors in [9] studied the mechanism of liquefaction and soil failure during the 1994 Northridge earthquake with detailed subsurface investigations. They found that the variation of the Ground Water Table (GWT) in combination with the heterogeneous nature of alluvial fan sediments is responsible for complex patterns of ground deformation. Authors in [10] found that clay particles are mainly responsible for the liquefaction characteristics of the soil. Authors in [2] convened a workshop sponsored by the National Center for Earthquake Engineering Research (NCEER) with 20 experts to review developments in the field of liquefaction in the past. They have given many updates and augmentations to the simplified procedure proposed in [1]. Authors in [11] studied the

likelihood of the initiation of soil liquefaction by SPT-based probabilistic and deterministic correlations. Authors in [12] closely studied the possible factor of the Bhuj 2001 earthquake and found that deep fluid inflow plays a crucial role in the intensity of disasters. Authors in [13] studied the Liquefaction Potential Index (LPI) of Mumbai city. They evaluated the factors of safety to predict the liquefaction potential along the depths of soil with a 2% probability of exceedance in 50 years using an SPT-based simplified procedure. Authors in [14] described the influence of earthquake ground motion on the liquefaction resistance of the soil. Authors in [15] investigated the paleoliquefaction from four sites in north Bihar and one site in eastern Uttar Pradesh. Based on the available data, they found the recurrence interval of 124 ± 63 years for great earthquakes like the 1934 earthquake in Bihar. They also concluded that the Plains of Bihar are most vulnerable to the seismic activity originating from the Himalayas as well as the terai Plains of Nepal. Authors in [16] studied the quality of groundwater in Bihar. Authors in [17] studied the postearthquake effect in Kathmandu valley after Gorkha, Nepal earthquake on 25 April 2015. They found seven locations of sand blows based on geotechnical investigation records. Authors in [18] reinterpreted the dynamic behavior of sandy soils subjected to recent historical earthquakes in Japan and demonstrated that the aged soils have higher resistance towards liquefaction than that suggested by their current design code. Authors in [19] studied four districts of Bihar, i.e. Samastipur, Darbhanga, West-Champaran, and Araria based on reliability techniques for the prediction of seismic liquefaction. Authors in [20-26] described stability methods for the soil types in Bihar. Authors in [27] evaluated the effect of plasticity on the liquefaction potential of fine-grained soil in the seismically active regions of Bihar based on Multi-Linear Regression (MLR) analysis and reliability analysis, i.e. First Order Second Moment (FOSM), and established a co-relation between the factor of safety against liquefaction, reliability index, and liquefaction probability.

According to the literature survey, Bihar is one of the most vulnerable states concerning seismic activities. Tremendous work has been conducted in the field of liquefaction, but little in the region. This study has been done to overcome this shortcoming and to have more accurate predictions of liquefaction in the seismic zones of Bihar, i.e. zone III, zone IV, and zone V and their relative vulnerability towards liquefaction. Here, a general correlation between liquefaction potential, depth, fines content, and SPT-N value has been established to be used as a handy tool. The method adopted here for the analysis is the method recommended by Indian Standard which is originally based on the simplified empirical method of [1] and later on modified by different researchers in this field.

II. METHODOLOGY

The prime concern is to know whether the soil is susceptible to liquefaction or not, so that suitable measures can be adopted in advance if required. For this purpose, the Factor Of Safety (FOS) against liquefaction is estimated according to the method described in Annex F of Indian Standard code [28] IS 1893 (Part 1): 2016, which is based on the Simplified Procedure proposed in [1] and later modified in [2]. The proneness of soil towards liquefaction is assured by estimating the FOS at different depths below Natural Ground Level (NGL). The FOS is estimated by dividing the Cyclic Resistance Ratio (CRR) required to induce liquefaction in the soil by the Cyclic Stress Ratio (CSR) produced by an earthquake.

$$FOS = \frac{CRR}{CSR} \quad (3)$$

A. Evaluation of CSR

Authors in [1] formulated the following expression for the calculation of (CSR):

$$\text{CSR} = 0.65 \left(\frac{a_{max}}{g}\right) \left(\frac{\sigma_{\text{vo}}}{\sigma_{\text{vo}}'}\right) r_d \quad (4)$$

where a_{max} = Peak Ground Acceleration (PGA) at the ground surface, g = gravity acceleration, σ_{vo} = total vertical stress at the point of interest, σ'_{vo} = effective vertical stress at the same point, and $r_d = r$ eduction factor.

The value of the reduction factor was initially given in [1] which was later approximated in [29]:

$$r_d = \frac{1.000 - 0.4113z^{0.5} + 0.04052z + 0.001753z^{1.5}}{1.000 - 0.4177z^{0.5} + 0.05729z - 0.006205z^{1.5} + 0.001210z^2}$$
(5)

IS 1893 (part 1):2016 recommends using the ratio (a_{max}/g) equal to seismic zone factor if the value of PGA is not available.

 TABLE I.
 SEISMIC ZONE FACTOR

 Seismic zone factor
 II
 III
 IV
 V

 Z
 0.10
 0.16
 0.24
 0.36

B. Evaluation of CRR

$$CRR = CRR_{7.5}(MSF)K_{\sigma}K_{\alpha} \quad (6)$$

where $CRR_{7.5} = CCR$ for earthquake magnitude $M_w = 7.5$, MSF, K_σ , and K_α are the correction factors for earthquake magnitude other than 7.5 (commonly known as magnitude scaling factor), overburden stress, and static shear stress respectively.

Authors in [2] re-evaluated the 1982's data set to get the revised MSF given by:

$$MSF = 10^{2.24} / M_w^{2.56}$$
 (7)

The high overburden correction factor is required for a depth greater than 15m is [30]:

$$K_{\sigma} = (\sigma'_{vo} / P_a)^{f-1}$$
 (8)

where P_a is the atmospheric pressure measured in the same unit as effective overburden pressure (σ'_{vo}) and the value of fdepends on relative density (D_r):

$$f = \begin{cases} 0.8 \sim 0.7 & \text{for } D_r = 40\% \text{ to } 60\% \\ 0.7 \sim 0.6 & \text{for } D_r = 60\% \text{ to } 80\% \end{cases}$$
(9)

As per the report correction for static shear stress [28], K_{α} , is required only for sloping ground which may be assumed to be in routine practice.

The SPT N-value measured in the field is corrected for the 60% hammer efficiency and standardized equipment using the expression:

$$N_{60} = NC_{60}$$
 (10)

where $C_{60} = C_{HT} * C_{HW} * C_{SS} * C_{RL} * C_{BD}$ and C_{HT} , C_{HW} , C_{SS} , C_{RL} , and C_{BD} are the correction factors for the height of fall, hammer weight, sampler setup, rod length, and borehole diameter respectively.

The N_{60} value computed is normalized to approximately 100kPa effective overburden pressure as suggested in [6]:

$$(N_1)_{60} = C_N N_{60} \quad (11)$$

where:

$$C_N = (P_a / \sigma'_{\rm vo})^{0.5} \le 1.7$$
 (12)

Authors in [22] developed an equation for counteracting the effect of fines content to get an equivalent clean sand value $(N_1)_{60cs}$:

$$(N_1)_{60cs} = \alpha + \beta (N_1)_{60} \quad (13)$$

where:

$$a = 0 \qquad \beta = 1 \qquad \text{for } FC \le 5\%$$

$$a = e^{\left[1.76 - \frac{190}{FC^2}\right]} \qquad \beta = 0.99 + \frac{FC^{1.5}}{1000} \qquad \text{for } 5\% < FC \le 35\% \qquad (14)$$

$$a = 0.5 \qquad \beta = 1.2 \qquad \text{for } FC > 35\%$$

An expression for cyclic resistance ratio for a 7.5 magnitude earthquake was formulated in [31] based on a clean sand base curve plot originally proposed in [5]:

$$CRR_{7.5} = \frac{1}{34 - (N_1)_{60CS}} + \frac{(N_1)_{60CS}}{135} + \frac{50}{[10 \times (N_1)_{60CS} + 45]^2} - \frac{1}{200} \quad (15)$$

TA

This expression is valid for $(N_1)_{60} < 30$. For $(N_1)_{60} \ge 30$, soils are too dense and non-liquefiable.

III. DATA ANALYSIS

Analysis has been done based on the big input data set which includes the depth of strata, its dry density, moisture content, fineness content, and SPT N-values. The rotary method of boring was adopted with a borehole diameter of 150mm throughout the project. For the analysis of the whole project the magnitude of the earthquake, M_w , was taken as 7.5. Three major district data from seismic zone III, five from seismic zone IV, and three from seismic zone V are summarized here in Tables II-IV for representation. The other districts from that zones show almost similar results. The soil of Nawada and Buxar districts has initially lower resistance to liquefaction which is almost near to the FOS-1 line but at 3m depth there is a sudden increase in the FOS of Buxar due to the increase in SPT N-value. Bhojpur has comparatively higher resistance against liquefaction in seismic zone III.



Fig. 1. Variation of the factor of safety with depth in seismic zone III

District	Depth (m)	γ (kN/m ³)	FC	N-value	σ_{ν} (kPa)	σ´ν (kPa)	r _d	CSR	C ₆₀	N ₆₀	C_N	$(N_1)_{60}$	$(N_1)_{60CS}$	Kσ	CRR _{7.5}	CRR	FOS
	1.50	19.62	95.20	10	29.43	25.51	0.990	0.12	0.65	6.50	1.70	11.04	13.75	1.00	0.15	0.15	1.24
	3.00	19.91	97.20	22	59.74	41.10	0.979	0.15	0.69	15.25	1.56	23.78	29.04	1.00	0.41	0.41	2.78
Buyor	4.50	19.72	97.20	14	88.73	55.38	0.969	0.16	0.74	10.31	1.34	13.85	17.12	1.00	0.18	0.18	1.13
GWT: 1.10m	6.00	19.82	94.10	18	118.90	70.83	0.958	0.17	0.82	14.81	1.19	17.60	21.62	1.00	0.24	0.24	1.42
G w 1. 1.10III	7.50	19.82	94.20	20	148.62	85.84	0.943	0.17	0.82	16.46	1.08	17.76	21.82	1.00	0.24	0.24	1.41
	9.00	19.91	96.40	21	179.23	101.73	0.923	0.17	0.82	17.28	0.99	17.13	21.06	1.00	0.23	0.23	1.35
	10.50	19.91	96.60	23	209.10	116.89	0.894	0.17	0.87	19.92	0.92	18.43	22.61	1.00	0.25	0.25	1.51
	1.50	18.64	3.20	9	27.96	27.96	0.990	0.10	0.65	5.85	1.70	9.94	9.94	1.00	0.11	0.11	1.09
	3.00	18.64	4.30	11	55.92	55.92	0.979	0.10	0.69	7.62	1.34	10.19	10.19	1.00	0.11	0.11	1.13
	4.50	18.34	5.00	22	82.55	72.74	0.969	0.11	0.74	16.20	1.17	18.99	18.99	1.00	0.20	0.20	1.78
	6.00	18.25	6.80	26	109.48	84.95	0.958	0.13	0.82	21.40	1.08	23.21	23.49	1.00	0.26	0.26	2.06
Nawada	7.50	18.25	2.70	25	136.85	97.61	0.943	0.14	0.82	20.57	1.01	20.82	20.82	1.00	0.23	0.23	1.64
GWT: 3.50m	9.00	18.25	3.00	26	164.22	110.26	0.923	0.14	0.82	21.40	0.95	20.38	20.38	1.00	0.22	0.22	1.54
	10.50	18.25	6.30	28	191.59	122.92	0.894	0.14	0.87	24.26	0.90	21.88	22.05	1.00	0.24	0.24	1.67
	12.00	18.15	7.00	31	217.78	134.40	0.857	0.14	0.87	26.85	0.86	23.16	23.48	1.00	0.26	0.26	1.83
	13.50	18.05	3.10	35	243.68	145.58	0.811	0.14	0.87	30.32	0.83	25.13	25.13	1.00	0.29	0.29	2.09
	15.00	18.05	3.50	39	270.76	157.94	0.761	0.14	0.87	33.78	0.80	26.88	26.88	0.87	0.34	0.29	2.15
	1.50	19.72	74.30	11	29.58	29.58	0.990	0.10	0.65	7.15	1.70	12.15	15.08	1.00	0.16	0.16	1.56
	3.00	19.72	84.60	12	59.15	59.15	0.979	0.10	0.69	8.32	1.30	10.81	13.47	1.00	0.15	0.15	1.42
Dhoimur	4.50	19.72	85.50	14	88.73	88.73	0.969	0.10	0.74	10.31	1.06	10.94	13.63	1.00	0.15	0.15	1.45
GWT 6 00	6.00	19.82	79.30	17	118.90	118.90	0.958	0.10	0.82	13.99	0.92	12.83	15.90	1.00	0.17	0.17	1.70
G w 1. 0.9011	7.50	19.82	80.30	19	148.62	142.74	0.943	0.10	0.82	15.64	0.84	13.09	16.20	1.00	0.17	0.17	1.69
	9.00	19.91	77.40	23	179.23	158.63	0.923	0.11	0.82	18.93	0.79	15.03	18.53	1.00	0.20	0.20	1.82
	10.50	19.91	78.40	25	209.10	173.78	0.894	0.11	0.87	21.66	0.76	16.43	20.21	1.00	0.22	0.22	1.95

BLE II.	LIQUEFACTION ANALYSIS OF ZONE III (PGA: 0.16, MSF: 1, KA: 1)
	.		

www.etasr.com

Thakur & Roy: Soil Liquefaction Potential in Different Seismic Zones of Bihar, India

Vol. 12, No. 6, 2022, 9471-9476

9474

TABLE III.	LIQUEFACTION ANALYSIS OF ZONE IV	(PGA: 0.246, MSF: 1, KA: 1)
------------	----------------------------------	----------------------------	---

1.50 1.8.25 9.2.9 5 2.7.3 2.7.3 0.900 0.1.5 0.6.6 3.2.5 1.7.3 1.000 0.090 0.059 0.059 4.50 18.3.4 90.05 1.1 8.2.5 7.1.7 0.900 0.16 0.7.4 8.1.0 1.5.5 2.2 1.1.64 1.0.0 0.8.9 1.6.6 0.6.6 0.6.7 0.0.6 0.6.6 0.6.6 0.6.7 0.7.6 1.8.44 9.1.2 1.0.107 8.8.9 0.98 0.98 0.8.8 1.8.2 1.0.8 1.0.0 0.1.6 0.6.6 0.8.7 0.900 1.8.2 1.0.8 1.0.0 0.1.8	District	Depth (m)	γ (kN/m ³)	FC	N- value	σ_{ν} (kPa)	σ' _ν (kPa)	r _d	CSR	C ₆₀	N ₆₀	C_N	(N ₁) ₆₀	(N ₁) _{60CS}	Kσ	CRR _{7.5}	CRR	FOS
3.00 18.25 93.73 6 54.74 54.74 0.99 0.16 0.16 1.18 0.20 7.24 1.00 0.09 0.09 0.59 Main 50 18.34 98.92 14 110.07 88.98 0.98 1.82 10.21 1.516 1.00 0.16 1.16 0.11 0.12 0.12 0.12 0.10 0.11 0.12 0.12 0.10 0.11 0.11 0.11 0.11 0.11 <t< td=""><td rowspan="3"></td><td>1.50</td><td>18.25</td><td>92.95</td><td>5</td><td>27.37</td><td>27.37</td><td>0.990</td><td>0.15</td><td>0.65</td><td>3.25</td><td>1.70</td><td>5.52</td><td>7.13</td><td>1.00</td><td>0.09</td><td>0.09</td><td>0.57</td></t<>		1.50	18.25	92.95	5	27.37	27.37	0.990	0.15	0.65	3.25	1.70	5.52	7.13	1.00	0.09	0.09	0.57
14.50 18.34 90.95 11 8.25 76.1 0.96 0.16 0.7 8.10 11.5 0.25 11.64 1.00 0.13 <th0.13< th=""> 0.13 0.13 <th< td=""><td>3.00</td><td>18.25</td><td>93.75</td><td>6</td><td>54.74</td><td>54.74</td><td>0.979</td><td>0.15</td><td>0.69</td><td>4.16</td><td>1.35</td><td>5.62</td><td>7.24</td><td>1.00</td><td>0.09</td><td>0.09</td><td>0.59</td></th<></th0.13<>		3.00	18.25	93.75	6	54.74	54.74	0.979	0.15	0.69	4.16	1.35	5.62	7.24	1.00	0.09	0.09	0.59
Named GWT: 3.35 6.00 18.34 88.92 14 11007 18.89 0.98 18.8 11.12 1.06 12.2 15.6 1.00 0.16 0.16 0.16 0.16 0.16 0.16 0.16 0.16 0.18 0.10 0.18 0.18 0.18 0.18 0.18 0.10 0.18 0.18 0.18 0.18 0.10 0.12 0.12 0.10 0.10 0.18 0.10 0.12 0.10 0.10 0.11 <td>4.50</td> <td>18.34</td> <td>90.95</td> <td>11</td> <td>82.55</td> <td>76.17</td> <td>0.969</td> <td>0.16</td> <td>0.74</td> <td>8.10</td> <td>1.15</td> <td>9.28</td> <td>11.64</td> <td>1.00</td> <td>0.13</td> <td>0.13</td> <td>0.78</td>		4.50	18.34	90.95	11	82.55	76.17	0.969	0.16	0.74	8.10	1.15	9.28	11.64	1.00	0.13	0.13	0.78
Name 750 18.44 91.32 17 18.43 102 18.22 17.28 19.39 19.09 18.44 92.50 10.00 18.44 92.59 12.1 11.50 18.44 92.59 12.1 11.50 18.44 92.59 12.1 11.50 18.47 91.00 30.2 22.13 14.13 0.837 12.0 8.44 11.3 25.55 1.00 0.31 0.31 14.8 13.50 18.74 91.00 30 221.31 14.13 0.857 0.585 0.76 0.250 0.55 0.52 1.00 0.31 0.30 0.31 1.48 1.50 19.33 90.00 7 28.99 28.90 0.90 0.15 0.65 4.55 1.70 7.73 9.78 1.00 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.10 0.13 0.10 0.13 0.10 0.10 <t< td=""><td>Nalanda</td><td>6.00</td><td>18.34</td><td>88.92</td><td>14</td><td>110.07</td><td>88.98</td><td>0.958</td><td>0.18</td><td>0.82</td><td>11.52</td><td>1.06</td><td>12.21</td><td>15.16</td><td>1.00</td><td>0.16</td><td>0.16</td><td>0.87</td></t<>	Nalanda	6.00	18.34	88.92	14	110.07	88.98	0.958	0.18	0.82	11.52	1.06	12.21	15.16	1.00	0.16	0.16	0.87
3.35m 9.00 18.44 90.44 21 16.50 11.44 90.25 12.44 193.65 12.44 10.84 10.70 10.83 11.32 25.25 1.00 0.31 0.31 13.41 12.00 18.44 90.09 2.92 21.31 141.36 0.877 0.21 0.87 25.99 0.79 20.66 25.99 0.07 0.06 25.99 0.90 0.30 0.30 0.30 1.31 1.31 15.00 18.74 89.77 31 28.10 0.71 1.09 0.87 2.685 1.07 0.23 0.23 0.23 0.23 0.24 0.87 0.77 3.978 1.00 0.12 0.12 0.77 0.00 19.2 90.90 7 28.89 8.82 0.970 1.15 0.74 8.84 1.00 1.12 1.00 0.12 0.17 1.01 0.00 19.91 91.70 12 147.93 1.85 0.87 1.	GWT: 3.85m	7.50	18.44	91.32	17	138.32	102.51	0.943	0.20	0.82	13.99	0.99	13.82	17.08	1.00	0.18	0.18	0.91
Bison 10.50 18.44 92.50 21.41 10.830 10.21 0.87 27.12 0.88 18.35 22.22 1.00 0.25 0.25 0.25 1.19 13.50 18.74 91.20 30 252.95 158.28 0.811 0.20 0.87 25.09 0.50 25.09 0.00 0.30 0.30 1.47 15.0 19.33 90.90 7 28.99 0.990 0.15 0.65 4.55 1.70 0.73 9.78 1.00 0.11 0.11 0.12 0.12 0.12 0.12 0.14 1.81 1.00 0.13 0.48 1.06 0.12 1.00 0.13 0.14 8.84 1.06 0.02 1.00 0.11 0.11 0.01 0.11 0.11 0.01 0.11 0.11 0.01 0.11 0.01 0.11 0.11 0.11 0.11 0.13 0.48 6.00 10.72 10.70 10.71 18.829 0.95<		9.00	18.44	90.44	21	165.99	115.46	0.923	0.21	0.82	17.28	0.93	16.08	19.80	1.00	0.21	0.21	1.03
12.00 18.44 90.09 29 21.31 141.36 0.857 0.21 0.87 25.19 0.78 21.18 25.85 1.00 0.31 0.31 1.148 15.00 18.74 89.77 31 28.06 171.68 0.70 1.02 0.87 25.99 0.90 0.75 2.066 25.29 1.00 0.10 0.11 1.01 0.72 3.00 19.52 90.90 12 88.92 0.90 0.15 0.64 4.31 8.15 1.00 0.11 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.12 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.11 0.12 0.14 0.10 0.10		10.50	18.44	92.59	24	193.65	128.41	0.894	0.21	0.87	20.79	0.88	18.35	22.52	1.00	0.25	0.25	1.19
13.50 18.74 91.20 30 25.29 1.00 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.35 0.22 1.23 300 19.52 09.09 1 28.89 0.90 0.15 0.65 4.50 1.70 7.73 9.78 1.00 0.11 0.11 0.11 0.71 4.50 19.62 90.90 12 88.29 88.29 0.960 0.15 0.74 8.84 1.06 9.40 1.17 1.00 0.11 0.11 0.12 1.00 0.11 0.11 0.11 0.12 1.00 0.11 0.11 0.11 0.12 1.00 1.00 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0.11 0		12.00	18.44	90.09	29	221.31	141.36	0.857	0.21	0.87	25.12	0.84	21.13	25.85	1.00	0.31	0.31	1.48
15.00 18.74 89.77 31 28.106 171.68 0.76 0.19 0.87 26.86 0.75 9.79 0.10 0.11 0.01		13.50	18.74	91.20	30	252.95	158.28	0.811	0.20	0.87	25.99	0.79	20.66	25.29	1.00	0.30	0.30	1.47
1.50 19.33 90.90 7 28.99 28.99 0.90 0.15 0.65 4.55 1.70 7.73 9.78 1.00 0.11 0.11 0.71 300 19.52 90.90 9 58.57 0.79 0.15 0.06 6.24 1.31 10.81 10.00 0.13 0.10 0.22 0.12 1.04 0.14 0.11 0.17 1.00 0.23 0.23 1.03 1.03 0.03 0.24 0.84 0.18 0.84 1.04 0.87 1.027 0.23 1.00 0.12 0.12 0.14 <td< td=""><td>15.00</td><td>18.74</td><td>89.77</td><td>31</td><td>281.06</td><td>171.68</td><td>0.761</td><td>0.19</td><td>0.87</td><td>26.85</td><td>0.76</td><td>20.50</td><td>25.09</td><td>0.85</td><td>0.29</td><td>0.25</td><td>1.29</td></td<>		15.00	18.74	89.77	31	281.06	171.68	0.761	0.19	0.87	26.85	0.76	20.50	25.09	0.85	0.29	0.25	1.29
3.00 19.52 9.00 9 58.57 0.879 0.15 0.69 24 1.31 8.15 10.28 1.00 0.12 0.13 0.10 0.10 0.10		1.50	19.33	90.90	7	28.99	28.99	0.990	0.15	0.65	4.55	1.70	7.73	9.78	1.00	0.11	0.11	0.72
4.50 19.62 90.90 12 88.29 0.969 0.15 0.74 8.84 1.06 9.40 11.78 1.00 0.013 0.13 0.82 4.50 160.0 19.72 91.70 10 10.359 0.9058 0.17 0.82 15.12 18.62 1.00 0.20 0.20 1.03 9.00 19.91 91.70 23 170.23 135.08 0.923 0.19 0.82 18.93 0.86 16.29 2.0.41 1.00 0.22 0.22 1.13 12.00 20.01 92.90 28 240.15 165.27 0.857 0.97 0.18 0.87 25.99 0.71 19.23 2.00 0.23 0.23 1.17 12.00 20.11 90.90 33 301.66 19.85 0.71 0.87 2.8.9 0.71 1.92 2.0.65 1.00 0.12 0.12 0.12 0.12 0.12 0.15 0.64 1.43 8.93 <t< td=""><td></td><td>3.00</td><td>19.52</td><td>90.90</td><td>9</td><td>58.57</td><td>58.57</td><td>0.979</td><td>0.15</td><td>0.69</td><td>6.24</td><td>1.31</td><td>8.15</td><td>10.28</td><td>1.00</td><td>0.12</td><td>0.12</td><td>0.76</td></t<>		3.00	19.52	90.90	9	58.57	58.57	0.979	0.15	0.69	6.24	1.31	8.15	10.28	1.00	0.12	0.12	0.76
Pata GWT: 4.000 6.00 19.72 91.70 16 118.31 10.559 0.988 0.17 0.82 16.46 0.92 15.12 18.65 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.20 10.00 0.00 0.22 0.22 1.17 10.00 10.91 92.90 24 209.10 150.24 0.884 0.19 0.87 24.26 0.77 18.79 23.05 1.00 0.23 0.23 1.24 13.00 20.01 92.90 30 270.7 181.88 0.811 0.19 0.87 23.59 0.71 192.7 23.05 1.00 0.26 0.23 1.30 15.0 10.23 92.70 9 58.57 48.76 0.970 1.01 1.42 1.02 1.40 1.00 0.11 0.11 0.1		4.50	19.62	90.90	12	88.29	88.29	0.969	0.15	0.74	8.84	1.06	9.40	11.78	1.00	0.13	0.13	0.85
Hard GWT: 4.50m 7.50 19.72 91.70 200 147.89 118.46 0.943 0.18 0.626 0.926 15.12 18.56 1.00 0.20 0.20 1.03 4.50m 10.50 19.91 92.00 23 179.23 15.08 0.023 0.19 0.87 20.79 0.86 16.29 20.04 1.00 0.22 1.13 12.00 20.01 92.90 2.4 20.01 15.02 0.10 0.22 2.23 1.00 0.22 1.31 15.00 20.01 92.90 2.4 20.01 18.88 0.81 0.19 0.87 25.59 0.71 19.23 1.00 0.12 0.16 0.66 4.30 1.12 11.00 0.11 0.10	Patna	6.00	19.72	91.70	16	118.31	103.59	0.958	0.17	0.82	13.17	0.98	12.94	16.02	1.00	0.17	0.17	1.00
4.50m 9.00 19.19 91.70 23 115.08 0.923 0.19 0.82 16.92 20.04 1.00 0.22 0.23 0.13 4.50m 10.50 19.91 92.00 24 29.01 150.01 50.24 0.834 0.19 0.87 20.70 18.79 23.05 1.00 0.22 0.23 1.31 15.00 20.01 92.90 30 270.17 18.188 0.811 0.19 0.87 24.26 0.77 18.79 23.62 1.00 0.22 0.23 1.33 15.00 20.01 92.90 30 270.16 28.84 0.900 0.15 0.65 3.90 1.70 6.63 8.45 1.00 0.10 0.10 0.65 3.00 19.23 91.90 12 11.53 76.13 0.958 0.23 0.82 1.84 1.05 1.00 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10	GWT	7.50	19.72	91.70	20	147.89	118.46	0.943	0.18	0.82	16.46	0.92	15.12	18.65	1.00	0.20	0.20	1.08
Instant Begustrain GWT: 10.50 19.91 92.90 24 20.90 10.92 10.90 20.85 1.00 0.23 0.23 1.23 12.00 20.01 92.90 30 270.17 18.18 0.811 0.19 0.87 25.99 0.74 19.27 23.62 1.00 0.27 0.27 1.42 15.00 20.01 92.90 33 301.66 198.65 0.761 0.18 0.87 25.99 0.74 19.27 23.62 1.00 0.27 0.27 1.42 15.00 19.23 92.70 6 28.84 28.84 0.990 0.15 0.65 3.90 1.70 6.63 8.45 1.00 0.12 0.12 0.12 0.12 0.12 0.16 0.12 0.12 0.12 0.12 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 0.13 <td>4 50m</td> <td>9.00</td> <td>19.91</td> <td>91.70</td> <td>23</td> <td>179.23</td> <td>135.08</td> <td>0.923</td> <td>0.19</td> <td>0.82</td> <td>18.93</td> <td>0.86</td> <td>16.29</td> <td>20.04</td> <td>1.00</td> <td>0.22</td> <td>0.22</td> <td>1.13</td>	4 50m	9.00	19.91	91.70	23	179.23	135.08	0.923	0.19	0.82	18.93	0.86	16.29	20.04	1.00	0.22	0.22	1.13
12.00 20.01 92.90 28 24.015 166.57 0.857 0.19 0.87 24.26 0.77 18.79 23.05 1.00 0.26 0.27 1.42 15.00 20.01 90.09 33 301.66 198.65 0.761 0.18 0.87 25.99 0.74 120.82 24.84 0.80 0.27 0.27 1.42 15.00 20.11 90.09 33 301.66 198.65 0.761 0.18 0.67 28.59 0.71 20.28 24.84 0.80 0.12 0.12 0.12 0.12 0.12 0.68 4.30 1.90 1.21 1.00 0.12 0.12 0.66 4.43 8.93 1.12 1.00 0.12 0.12 0.61 0.17 0.17 0.73 1.92 23.41 1.05 1.13 1.44 1.00 0.12 0.12 0.12 0.12 0.12 0.12 0.17 0.17 0.73 1.93 1.00 1.02 <t< td=""><td>1.5011</td><td>10.50</td><td>19.91</td><td>92.90</td><td>24</td><td>209.10</td><td>150.24</td><td>0.894</td><td>0.19</td><td>0.87</td><td>20.79</td><td>0.82</td><td>16.96</td><td>20.85</td><td>1.00</td><td>0.23</td><td>0.23</td><td>1.17</td></t<>	1.5011	10.50	19.91	92.90	24	209.10	150.24	0.894	0.19	0.87	20.79	0.82	16.96	20.85	1.00	0.23	0.23	1.17
13.50 20.01 92.90 30 270.17 181.88 0.811 0.97 0.87 25.99 0.74 19.27 23.62 1.00 0.27 0.27 1.42 15.00 20.11 90.90 33 301.66 198.65 0.761 0.18 0.87 25.99 0.71 20.28 24.84 0.81 0.29 0.21 0.70 6.63 8.45 1.00 0.10 0.10 0.65 3.00 19.23 92.70 9 58.57 48.76 0.979 0.18 0.69 6.24 1.43 8.93 11.22 1.00 0.12 0.12 0.12 0.66 6.24 1.43 8.93 11.22 1.00 0.13 0.61 0.61 0.61 0.61 0.61 0.61 0.61 0.61 0.61 0.61 0.61 1.05 1.93 9.00 12 115.3 1.30 1.30 1.30 1.30 1.30 1.30 1.30 1.11 1.11 1.00 </td <td rowspan="3"></td> <td>12.00</td> <td>20.01</td> <td>92.90</td> <td>28</td> <td>240.15</td> <td>166.57</td> <td>0.857</td> <td>0.19</td> <td>0.87</td> <td>24.26</td> <td>0.77</td> <td>18.79</td> <td>23.05</td> <td>1.00</td> <td>0.26</td> <td>0.26</td> <td>1.34</td>		12.00	20.01	92.90	28	240.15	166.57	0.857	0.19	0.87	24.26	0.77	18.79	23.05	1.00	0.26	0.26	1.34
15.00 20.11 90.90 33 30.166 198.65 0.761 0.18 0.87 28.59 0.71 20.28 24.84 0.81 0.29 0.23 1.30 1.50 19.23 92.70 6 28.84 28.84 0.990 0.15 0.65 3.90 1.70 6.63 8.45 1.00 0.12 0.65 3.00 19.52 92.70 10 88.29 63.77 0.969 0.21 0.74 7.36 12.2 1.10 0.15 0.15 0.66 6.00 19.23 91.90 15 14.41 19.02 0.943 0.24 0.82 1.88 1.15 1.32 14.00 0.17		13.50	20.01	92.90	30	270.17	181.88	0.811	0.19	0.87	25.99	0.74	19.27	23.62	1.00	0.27	0.27	1.42
1.50 19.23 92.70 6 28.84 28.84 0.990 0.15 0.65 3.90 1.70 6.63 8.45 1.00 0.10 0.10 0.65 3.00 19.52 92.70 9 58.57 48.76 0.979 0.18 0.69 6.24 1.43 8.93 11.22 1.00 0.12 0.12 0.68 4.50 19.62 92.70 10 88.29 6.377 0.969 0.21 0.74 7.36 1.25 9.22 11.57 1.00 0.15 0.15 0.67 7.50 19.23 91.90 15 144.21 90.25 0.943 0.24 0.82 12.34 1.05 12.99 16.00 1.01 0.17 0.17 0.17 0.73 9.00 19.33 93.00 23 20.22 1.92 0.81 1.81 1.03 1.00 0.22 0.27 1.16 15.00 19.13 94.00 28 28.48		15.00	20.11	90.90	33	301.66	198.65	0.761	0.18	0.87	28.59	0.71	20.28	24.84	0.81	0.29	0.23	1.30
3.00 19.52 92.70 9 58.77 48.76 0.979 0.18 0.69 6.24 1.43 8.93 11.22 1.00 0.12 0.12 0.012 0.012 0.012 0.012 0.012 0.012 0.013 0.013 0.013 0.013 0.013 0.013 0.015 0.016 0.011 0.012 0.021 0.011 0.021 0.011 0.021 0.011 0.021 0.011 0.012 0.011 0.012 0.011 0.011 0.011 0.011 0.011 0.011 0.011		1.50	19.23	92.70	6	28.84	28.84	0.990	0.15	0.65	3.90	1.70	6.63	8.45	1.00	0.10	0.10	0.65
Associate 4.50 19.62 92.70 10 88.29 63.77 0.969 0.21 0.74 7.36 1.25 9.22 11.57 1.00 0.13 0.13 0.613 0.613 0.613 0.613 0.613 0.615 0.67 6.00 19.23 91.90 15 144.21 90.25 0.93 0.24 0.82 1.81 1.05 1.29 1.00 1.00 0.17 0.17 0.73 9.00 19.33 91.90 18 173.93 105.26 0.923 0.24 0.82 14.81 0.97 14.44 17.83 1.00 0.17 0.17 0.73 10.00 19.33 91.90 12 23.52 0.92 1.92 0.91 18.22 22.37 1.00 0.02 0.25 1.04 12.00 19.62 93.00 28 26.437 152.06 0.81 0.22 0.85 19.22 23.56 1.00 0.02 0.02 1.05		3.00	19.52	92.70	9	58.57	48.76	0.979	0.18	0.69	6.24	1.43	8.93	11.22	1.00	0.12	0.12	0.68
Saran GWT: 2.00m 60.0 19.23 91.90 12 115.37 76.13 0.988 0.23 0.82 12.34 11.32 14.08 1.00 0.15 0.15 0.67 2.00m 19.23 91.90 15 144.21 90.25 0.943 0.24 0.82 12.34 1.05 12.99 16.09 1.00 0.17 0.17 0.73 9.00 19.33 91.90 18 173.93 105.26 0.923 0.24 0.82 14.81 0.97 14.44 17.33 1.00 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.17 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10 0.10		4.50	19.62	92.70	10	88.29	63.77	0.969	0.21	0.74	7.36	1.25	9.22	11.57	1.00	0.13	0.13	0.61
GWT: 2.00m 7.50 19.23 91.90 15 144.21 90.25 0.943 0.24 0.82 12.34 1.05 12.90 16.00 1.00 0.17 0.17 0.73 9.00 19.33 91.90 18 173.93 105.26 0.923 0.24 0.82 14.81 0.97 14.44 17.83 1.00 0.17 0.10 0.10 0.10 0.10 0.12 1.16 1.16 1.16 1.16 1.16 1.16 1.16 1.16 1.1	Saran	6.00	19.23	91.90	12	115.37	76.13	0.958	0.23	0.82	9.88	1.15	11.32	14.08	1.00	0.15	0.15	0.67
2.00m 9.00 19.33 91.90 18 173.93 105.26 0.923 0.24 0.82 14.81 0.97 14.44 17.83 1.00 0.19 0.12 0.14 0.12 0.13 0.12 0.13 0.23 0.87 0.23 0.81 1.22 0.23 0.21 0.10 0.12 0.116 0.21 0.81 0.21 0.81 0.21 0.10 0.10 0.10 0.10 0.10 0.10	GWT	7.50	19.23	91.90	15	144.21	90.25	0.943	0.24	0.82	12.34	1.05	12.99	16.09	1.00	0.17	0.17	0.73
Horse 10.50 19.33 93.00 23 202.92 119.53 0.894 0.24 0.87 19.92 0.91 18.22 22.37 1.00 0.25 0.25 1.04 12.00 19.62 93.00 26 235.44 137.34 0.857 0.23 0.87 22.52 0.85 19.22 23.56 1.00 0.27 0.27 1.16 13.50 19.62 93.00 28 264.87 152.00 0.81 19.67 24.10 1.00 1.00 0.28 0.28 1.25 15.00 19.72 91.70 30 295.77 168.24 0.761 0.21 0.87 25.99 0.77 20.04 24.54 0.86 0.28 0.28 1.00 0.00	2.00m	9.00	19.33	91.90	18	173.93	105.26	0.923	0.24	0.82	14.81	0.97	14.44	17.83	1.00	0.19	0.19	0.80
12.00 19.62 93.00 26 235.44 137.34 0.857 0.23 0.87 22.52 0.85 19.22 23.56 1.00 0.27 0.27 0.17 15.00 19.72 91.70 30 28 264.87 152.06 0.811 0.22 0.87 22.52 0.85 19.67 24.10 1.00 0.28 0.28 1.25 15.00 19.72 91.70 30 295.77 168.24 0.761 0.21 0.87 25.99 0.77 20.44 24.54 0.86 0.28 0.24 1.16 3.00 19.03 96.50 7 57.09 57.09 0.979 0.15 0.64 4.85 1.32 6.42 8.20 1.00 0.00 0.00 0.00 4.50 19.03 96.60 6 85.64 85.64 0.958 0.16 0.82 1.88 0.97 9.62 12.04 1.00 0.13 0.13 0.81 5.10m<	2.00111	10.50	19.33	93.00	23	202.92	119.53	0.894	0.24	0.87	19.92	0.91	18.22	22.37	1.00	0.25	0.25	1.04
Hard Hard Hard Hard Hard Hard Hard Hard		12.00	19.62	93.00	26	235.44	137.34	0.857	0.23	0.87	22.52	0.85	19.22	23.56	1.00	0.27	0.27	1.16
Ison 19.72 91.70 30 295.77 168.24 0.76 0.21 0.87 25.99 0.77 20.04 24.54 0.86 0.28 0.24 1.16 West 1.50 19.13 94.90 28 28.69 28.69 0.990 0.15 0.65 18.19 1.70 30.93 37.61 1.00 0.00 0.00 0.00 Ason 19.03 96.50 7 57.09 0.79 0.15 0.69 4.85 1.32 6.42 8.20 1.00 0.10 0.00 0.06 6WT: 5.00 19.03 95.10 12 114.19 105.36 0.958 0.16 0.82 9.88 0.97 9.62 12.04 1.00 0.13		13.50	19.62	93.00	28	264.87	152.06	0.811	0.22	0.87	24.26	0.81	19.67	24.10	1.00	0.28	0.28	1.25
West Champaran GWT: 5.10m 1.50 19.13 94.90 28 28.69 28.69 0.990 0.15 0.65 18.19 1.70 30.93 37.61 1.00 0.00 0.00 0.00 GWT: 5.10m 19.03 96.50 7 57.09 57.09 0.979 0.15 0.69 4.85 1.32 6.42 8.20 1.00 0.10 0.10 0.64 GWT: 5.10m 19.03 95.10 12 114.19 105.36 0.958 0.16 0.82 9.88 0.97 9.62 12.04 1.00 0.13 0.13 0.81 9.00 19.23 95.30 23 144.21 120.66 0.943 0.18 0.82 18.93 0.91 17.23 21.18 1.00 0.23 0.23 1.31 9.00 19.23 95.40 28 20.29 18.94 0.19 0.87 24.26 0.82 19.81 24.27 1.00 0.24 0.24 1.29 1.47 <td></td> <td>15.00</td> <td>19.72</td> <td>91.70</td> <td>30</td> <td>295.77</td> <td>168.24</td> <td>0.761</td> <td>0.21</td> <td>0.87</td> <td>25.99</td> <td>0.77</td> <td>20.04</td> <td>24.54</td> <td>0.86</td> <td>0.28</td> <td>0.24</td> <td>1.16</td>		15.00	19.72	91.70	30	295.77	168.24	0.761	0.21	0.87	25.99	0.77	20.04	24.54	0.86	0.28	0.24	1.16
West Champaran GWT: 5.10m 3.00 19.03 96.50 7 57.09 57.09 0.979 0.15 0.69 4.85 1.32 6.42 8.20 1.00 0.10 0.10 0.64 Champaran GWT: 5.10m 19.03 96.60 6 85.64 85.64 0.969 0.15 0.74 4.42 1.08 4.77 6.23 1.00 0.08 0.08 0.54 GWT: 5.10m 19.23 95.30 23 144.21 120.66 0.943 0.18 0.82 18.93 0.91 17.23 21.18 1.00 0.23 0.23 1.31 9.00 19.23 95.30 25 173.05 134.79 0.923 0.18 0.82 20.57 0.86 17.72 21.76 1.00 0.24 0.24 1.29 10.50 19.33 95.40 28 202.92 149.95 0.894 0.19 0.82 24.26 0.82 1.72 21.76 1.00 0.24 0.24 1.29 </td <td></td> <td>1.50</td> <td>19.13</td> <td>94.90</td> <td>28</td> <td>28.69</td> <td>28.69</td> <td>0.990</td> <td>0.15</td> <td>0.65</td> <td>18.19</td> <td>1.70</td> <td>30.93</td> <td>37.61</td> <td>1.00</td> <td>0.00</td> <td>0.00</td> <td>0.00</td>		1.50	19.13	94.90	28	28.69	28.69	0.990	0.15	0.65	18.19	1.70	30.93	37.61	1.00	0.00	0.00	0.00
Champara GWT: 5.10m 4.30 19.03 96.60 6 85.64 85.64 0.969 0.15 0.74 4.42 1.08 4.77 6.23 1.00 0.08 0.08 0.54 GWT: 5.10m 0.0 19.03 95.10 12 114.19 105.36 0.958 0.16 0.82 9.88 0.97 9.62 12.04 1.00 0.13 0.13 0.81 7.50 19.23 95.30 23 144.21 120.66 0.943 0.18 0.82 18.93 0.91 17.23 21.18 1.00 0.23 0.23 1.31 9.00 19.23 95.30 25 173.05 134.79 0.923 0.18 0.82 20.57 0.86 17.72 21.76 1.00 0.24 0.24 1.29 10.50 19.33 95.40 28 202.92 149.95 0.894 0.19 0.82 1.62 1.82 1.00 0.14 0.14 0.83 10.50 <td>West</td> <td>3.00</td> <td>19.03</td> <td>96.50</td> <td>7</td> <td>57.09</td> <td>57.09</td> <td>0.979</td> <td>0.15</td> <td>0.69</td> <td>4.85</td> <td>1.32</td> <td>6.42</td> <td>8.20</td> <td>1.00</td> <td>0.10</td> <td>0.10</td> <td>0.64</td>	West	3.00	19.03	96.50	7	57.09	57.09	0.979	0.15	0.69	4.85	1.32	6.42	8.20	1.00	0.10	0.10	0.64
GWT: 5.10m 6.00 19.03 95.10 12 114.19 105.36 0.98 0.16 0.82 9.88 0.97 9.62 12.04 1.00 0.13 0.13 0.81 5.10m 7.50 19.23 95.30 23 144.21 120.66 0.943 0.18 0.82 18.93 0.91 17.23 21.18 1.00 0.23 0.23 1.31 9.00 19.23 95.30 25 173.05 134.79 0.923 0.18 0.82 20.57 0.86 17.72 21.76 1.00 0.24 0.24 1.29 10.50 19.33 95.40 28 202.92 149.95 0.894 0.19 0.87 24.26 0.82 19.81 24.27 1.00 0.24 0.24 1.29 10.50 19.52 84.30 11 58.57 58.57 0.69 7.62 1.31 9.96 12.45 1.00 0.14 0.14 0.87 4.50	Champaran	4.50	19.03	96.60	6	85.64	85.64	0.969	0.15	0.74	4.42	1.08	4.77	6.23	1.00	0.08	0.08	0.54
5.10m 7.50 19.23 95.30 23 144.21 120.66 0.943 0.18 0.82 18.93 0.91 17.23 21.18 1.00 0.23 0.23 1.31 9.00 19.23 95.30 25 173.05 134.79 0.923 0.18 0.82 20.57 0.86 17.72 21.76 1.00 0.24 0.24 1.29 10.50 19.33 95.40 28 202.92 149.95 0.894 0.19 0.87 24.26 0.82 19.81 24.27 1.00 0.28 0.28 1.47 1.50 19.52 84.30 9 29.28 29.90 0.15 0.65 5.85 1.70 9.94 12.45 1.00 0.14 0.14 0.87 3.00 19.52 84.30 19 89.61 84.71 0.969 0.16 0.74 13.99 1.09 15.20 18.74 1.00 0.26 0.26 1.245 4.00m	GWT:	6.00	19.03	95.10	12	114.19	105.36	0.958	0.16	0.82	9.88	0.97	9.62	12.04	1.00	0.13	0.13	0.81
9.00 19.23 95.30 25 173.05 134.79 0.923 0.18 0.82 20.77 0.86 17.72 21.76 1.00 0.24 0.24 1.29 10.50 19.33 95.40 28 202.92 149.95 0.894 0.19 0.87 24.26 0.82 19.81 24.27 1.00 0.28 0.28 1.47 1.50 19.52 84.30 9 29.28 29.28 0.990 0.15 0.65 5.85 1.70 9.94 12.43 1.00 0.14 0.14 0.87 3.00 19.52 84.30 11 58.57 58.57 0.979 0.15 0.69 7.62 1.31 9.96 12.45 1.00 0.14 0.14 0.89 4.50 19.91 84.30 19 89.61 84.71 0.969 0.16 0.74 13.99 1.09 15.20 18.74 1.00 0.20 0.20 1.25 4.50 19.91<	5.10m	7.50	19.23	95.30	23	144.21	120.66	0.943	0.18	0.82	18.93	0.91	17.23	21.18	1.00	0.23	0.23	1.31
10.50 19.33 95.40 28 202.92 149.95 0.894 0.19 0.87 24.26 0.82 19.81 24.27 1.00 0.28 0.28 1.47 1.50 19.52 84.30 9 29.28 29.28 0.990 0.15 0.65 5.85 1.70 9.94 12.43 1.00 0.14 0.14 0.87 3.00 19.52 84.30 11 58.57 58.57 0.979 0.15 0.69 7.62 1.31 9.96 12.45 1.00 0.14 0.14 0.89 4.50 19.91 84.30 19 89.61 84.71 0.969 0.16 0.74 13.99 1.09 15.20 18.74 1.00 0.20 0.20 1.25 6.00 19.91 84.30 23 119.49 99.87 0.958 0.18 0.82 18.93 1.00 18.94 23.23 1.00 0.26 0.26 1.25 GWT: 9.00 <td></td> <td>9.00</td> <td>19.23</td> <td>95.30</td> <td>25</td> <td>1/3.05</td> <td>134.79</td> <td>0.923</td> <td>0.18</td> <td>0.82</td> <td>20.57</td> <td>0.86</td> <td>17.72</td> <td>21.76</td> <td>1.00</td> <td>0.24</td> <td>0.24</td> <td>1.29</td>		9.00	19.23	95.30	25	1/3.05	134.79	0.923	0.18	0.82	20.57	0.86	17.72	21.76	1.00	0.24	0.24	1.29
I.30 I9.52 84.30 9 29.28 29.28 0.990 0.15 0.65 5.85 1.70 9.94 12.43 1.00 0.14 0.14 0.87 3.00 19.52 84.30 11 58.57 58.57 0.979 0.15 0.69 7.62 1.31 9.96 12.45 1.00 0.14 0.14 0.89 4.50 19.91 84.30 19 89.61 84.71 0.969 0.16 0.74 13.99 1.09 15.20 18.74 1.00 0.20 0.20 1.25 6.00 19.91 84.30 23 119.49 99.87 0.958 0.18 0.82 18.93 1.00 18.94 23.23 1.00 0.26 0.26 1.46 GWT: 4.00m 19.91 87.20 25 149.36 115.02 0.943 0.19 0.82 20.57 0.93 19.18 23.52 1.00 0.26 0.26 1.30 9.00 <td></td> <td>10.50</td> <td>19.33</td> <td>95.40</td> <td>28</td> <td>202.92</td> <td>149.95</td> <td>0.894</td> <td>0.19</td> <td>0.87</td> <td>24.26</td> <td>0.82</td> <td>19.81</td> <td>24.27</td> <td>1.00</td> <td>0.28</td> <td>0.28</td> <td>1.47</td>		10.50	19.33	95.40	28	202.92	149.95	0.894	0.19	0.87	24.26	0.82	19.81	24.27	1.00	0.28	0.28	1.47
3.00 19.52 84.30 11 58.57 0.979 0.15 0.69 7.62 1.31 9.96 12.45 1.00 0.14 0.14 0.89 4.50 19.91 84.30 19 89.61 84.71 0.969 0.16 0.74 13.99 1.09 15.20 18.74 1.00 0.20 0.20 1.25 6.00 19.91 84.30 23 119.49 99.87 0.958 0.18 0.82 18.93 1.00 18.94 23.23 1.00 0.26 0.26 1.46 GWT: 4.00m 19.91 87.20 25 149.36 115.02 0.943 0.19 0.82 20.57 0.93 19.18 23.52 1.00 0.26 0.26 1.30 9.00 19.91 87.20 26 179.23 130.18 0.923 0.20 0.87 24.26 0.83 20.05 24.56 1.00 0.28 0.26 1.30 10.50 20		1.50	19.52	84.30	9	29.28	29.28	0.990	0.15	0.65	5.85	1.70	9.94	12.43	1.00	0.14	0.14	0.87
4.30 19.91 84.30 19 89.61 84.71 0.969 0.16 0.74 13.99 1.09 15.20 18.74 1.00 0.20 0.20 1.25 Begusaria GWT: 4.00m 19.91 84.30 23 119.49 99.87 0.958 0.18 0.82 18.93 1.00 18.94 23.23 1.00 0.26 0.26 1.46 GWT: 4.00m 19.91 87.20 25 149.36 115.02 0.943 0.19 0.82 20.57 0.93 19.18 23.52 1.00 0.26 0.26 1.39 9.00 19.91 87.20 26 179.23 130.18 0.923 0.20 0.82 21.40 0.88 18.75 23.00 1.00 0.26 0.26 1.30 10.50 20.01 79.40 28 210.13 146.37 0.894 0.20 0.87 24.26 0.83 20.05 24.56 1.00 0.28 0.28 1.41 12.00		3.00	19.52	84.30	10	38.57	38.57	0.979	0.15	0.69	/.62	1.31	9.96	12.45	1.00	0.14	0.14	0.89
Begusaria 6.00 19.91 84.30 25 119.49 99.87 0.938 0.18 0.82 18.93 1.00 18.94 25.25 1.00 0.26 0.26 1.46 GWT: 7.50 19.91 87.20 25 149.36 115.02 0.943 0.19 0.82 20.57 0.93 19.18 23.52 1.00 0.27 0.27 1.39 9.00 19.91 87.20 26 179.23 130.18 0.923 0.20 0.82 21.40 0.88 18.75 23.00 1.00 0.26 0.26 1.30 10.50 20.01 79.40 28 210.13 146.37 0.894 0.20 0.87 24.26 0.83 20.05 24.56 1.00 0.28 0.28 1.41 12.00 20.01 79.40 32 271.49 178.30 0.81 0.19 0.87 25.99 0.79 20.44 25.03 1.00 0.29 0.29 1.47		4.50	19.91	84.30	19	89.01	84./1	0.969	0.10	0.74	13.99	1.09	15.20	18.74	1.00	0.20	0.20	1.25
GWT: 4.00m 7.30 19.91 87.20 2.5 149.56 113.02 0.94.5 0.19 0.82 20.37 0.93 19.18 25.32 1.00 0.27 0.27 1.39 4.00m 9.00 19.91 87.20 26 179.23 130.18 0.923 0.20 0.82 21.40 0.88 18.75 23.00 1.00 0.26 0.26 1.30 10.50 20.01 79.40 28 210.13 146.37 0.894 0.20 0.87 24.26 0.83 20.05 24.56 1.00 0.28 0.28 1.41 12.00 20.01 79.40 30 240.15 161.67 0.857 0.20 0.87 25.99 0.79 20.44 25.03 1.00 0.29 0.29 1.47 13.50 20.11 82.40 32 271.49 178.30 0.811 0.19 0.877 27.02 0.75 20.76 25.41 1.00 0.30 0.30 1.	Begusarai	0.00	19.91	84.30	25	119.49	99.87	0.958	0.18	0.82	18.93	1.00	18.94	23.23	1.00	0.20	0.20	1.40
4.00m 9.00 19.91 87.20 20 179.25 130.18 0.925 0.20 0.82 21.40 0.88 18.75 25.00 1.00 0.26 0.26 1.30 10.50 20.01 79.40 28 210.13 146.37 0.894 0.20 0.87 24.26 0.83 20.05 24.56 1.00 0.28 0.28 1.41 12.00 20.01 79.40 30 240.15 161.67 0.87 0.20 0.87 25.99 0.79 20.44 25.03 1.00 0.29 0.29 1.47 13.50 20.11 82.40 32 271.49 178.30 0.811 0.19 0.87 27.72 0.75 20.76 25.41 1.00 0.30 0.30 1.56 15.00 20.11 82.40 32 271.49 178.30 0.811 0.19 0.87 27.72 0.75 20.76 25.41 1.00 0.30 0.30 1.56	GWT:	7.50	19.91	07.20	23	149.30	113.02	0.943	0.19	0.82	20.57	0.93	19.18	23.32	1.00	0.27	0.27	1.39
10.50 20.01 79.40 26 210.15 140.57 0.894 0.20 0.87 24.20 0.85 20.05 24.50 1.00 0.28 0.28 1.41 12.00 20.01 79.40 30 240.15 161.67 0.87 0.20 0.87 25.99 0.79 20.44 25.03 1.00 0.29 0.29 1.47 13.50 20.11 82.40 32 271.49 178.30 0.811 0.19 0.87 27.72 0.75 20.76 25.41 1.00 0.30 0.30 1.56 15.00 20.11 82.40 32 271.49 178.30 0.811 0.19 0.87 27.72 0.75 20.76 25.41 1.00 0.30 0.30 1.56 15.00 20.11 82.40 32 20.67 1.97 27.62 0.75 27.76 27.84 0.82 0.40 0.32 1.90	4.00m	9.00	19.91	87.20 70.40	20	210.12	130.18	0.923	0.20	0.82	21.40	0.88	18.75	25.00	1.00	0.20	0.20	1.30
12.00 20.01 79.40 50 240.13 101.07 0.837 0.20 0.87 23.99 0.79 20.44 25.05 1.00 0.29 0.29 1.47 13.50 20.11 82.40 32 271.49 178.30 0.81 0.19 0.87 20.75 20.76 25.41 1.00 0.30 0.30 1.56 15.00 20.11 82.40 32 271.49 178.30 0.811 0.19 0.87 20.75 20.76 25.41 1.00 0.30 0.30 1.56 15.00 20.11 82.40 32 271.49 178.30 0.811 0.19 0.87 27.72 0.75 20.76 25.41 1.00 0.30 1.56		10.50	20.01	79.40	20	210.15	140.37	0.694	0.20	0.87	24.20	0.83	20.05	24.30	1.00	0.28	0.28	1.41
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		12.00	20.01	79.40 82.40	30	240.15	101.0/	0.83/	0.20	0.87	23.99	0.79	20.44	25.05	1.00	0.29	0.29	1.4/
		15.00	20.11	82.40	32	301.66	103 75	0.011	0.19	0.87	32.02	0.75	20.70	23.41	0.82	0.30	0.30	1.50



Fig. 2. Variation of the factor of safety with depth in seismic zone IV.





District	Depth (m)	γ (kN/m ³)	FC	N-value	σ_{ν} (kPa)	σ'_{ν} (kPa)	r _d	CSR	C ₆₀	N ₆₀	C_N	$(N_1)_{60}$	(N ₁) _{60CS}	Kσ	CRR _{7.5}	CRR	FOS
	1.50	17.96	23.20	3	26.95	20.57	0.990	0.30	0.65	1.95	1.70	3.31	7.73	1.00	0.09	0.09	0.31
	3.00	17.95	17.20	6	53.85	32.76	0.979	0.38	0.69	4.16	1.70	7.07	10.56	1.00	0.12	0.12	0.31
	4.50	18.04	93.68	9	81.20	45.40	0.969	0.41	0.74	6.63	1.48	9.84	12.30	1.00	0.13	0.13	0.33
	6.00	18.07	21.08	10	108.39	57.87	0.958	0.42	0.82	8.23	1.31	10.82	15.55	1.00	0.17	0.17	0.39
Madhubani	7.50	18.05	13.30	12	135.35	70.11	0.943	0.43	0.82	9.88	1.19	11.79	14.23	1.00	0.15	0.15	0.36
GWT: 0.85m	9.00	18.06	7.35	28	162.55	82.59	0.923	0.43	0.82	23.04	1.10	25.35	25.78	1.00	0.31	0.31	0.72
	10.50	18.29	6.73	32	192.07	97.40	0.894	0.41	0.87	27.72	1.01	28.09	28.38	1.00	0.38	0.38	0.93
	12.00	18.35	37.70	12	220.26	110.88	0.857	0.40	0.87	10.40	0.95	9.87	12.35	1.00	0.13	0.13	0.34
	13.50	18.43	41.34	15	248.77	124.68	0.811	0.38	0.87	12.99	0.90	11.64	14.46	1.00	0.15	0.15	0.41
	15.00	18.45	4.25	28	276.73	137.92	0.761	0.36	0.87	24.26	0.85	20.65	20.65	0.91	0.22	0.20	0.57
	1.50	18.04	94.80	5	27.07	27.07	0.990	0.23	0.65	3.25	1.70	5.52	7.13	1.00	0.09	0.09	0.38
	3.00	18.57	93.10	7	55.70	48.83	0.979	0.26	0.69	4.85	1.43	6.94	8.83	1.00	0.10	0.10	0.39
Darkhanaa	4.50	18.26	86.46	9	82.18	60.60	0.969	0.31	0.74	6.63	1.28	8.51	10.72	1.00	0.12	0.12	0.39
CWT: 2.20m	6.00	18.22	16.75	15	109.31	73.02	0.958	0.34	0.82	12.34	1.17	14.45	18.24	1.00	0.19	0.19	0.58
Gw 1: 2.50m	7.50	18.68	15.50	10	140.08	89.07	0.943	0.35	0.82	8.23	1.06	8.72	11.80	1.00	0.13	0.13	0.37
	9.00	18.61	16.70	11	167.47	101.75	0.923	0.36	0.82	9.05	0.99	8.97	12.44	1.00	0.14	0.14	0.38
	10.00	18.25	16.75	13	182.51	106.97	0.905	0.36	0.87	11.26	0.97	10.89	14.48	1.00	0.15	0.15	0.43
	3.00	19.33	71.00	8	57.98	38.36	0.979	0.35	0.69	5.54	1.61	8.95	11.24	1.00	0.12	0.12	0.36
	4.50	19.33	7.00	13	86.97	52.63	0.969	0.37	0.74	9.57	1.38	13.19	13.43	1.00	0.14	0.14	0.39
	7.50	19.33	9.00	17	144.94	81.18	0.943	0.39	0.82	13.99	1.11	15.53	16.35	1.00	0.17	0.17	0.44
	9.00	19.33	8.00	18	173.93	95.45	0.923	0.39	0.82	14.81	1.02	15.16	15.65	1.00	0.17	0.17	0.42
Supaul	10.50	19.33	8.00	19	202.92	109.72	0.894	0.39	0.87	16.46	0.95	15.71	16.21	1.00	0.17	0.17	0.45
GWT: 1.00m	12.00	19.33	8.00	22	231.91	124.00	0.857	0.37	0.87	19.06	0.90	17.11	17.63	1.00	0.19	0.19	0.50
	13.50	19.33	5.00	25	260.90	138.27	0.811	0.36	0.87	21.66	0.85	18.42	18.42	1.00	0.20	0.20	0.55
	15.00	19.33	6.00	28	289.89	152.55	0.761	0.34	0.87	24.26	0.81	19.64	19.76	0.88	0.21	0.19	0.55
	18.00	19.33	7.00	35	347.86	181.09	0.667	0.30	0.87	30.32	0.74	22.53	22.84	0.84	0.25	0.21	0.71
	21.00	19.33	8 00	44	405.84	209 64	0 598	0.27	0.87	38.12	0.69	26 32	26.96	0.80	0.34	0.27	1.00

TABLE IV. LIQUEFACTION ANALYSIS OF ZONE IV (PGA: 0.36, MSF: 1, KA: 1)

In seismic zone IV, Begusarai has the highest resistance towards liquefaction as the district is liquefiable only up to 3.5m depth below NGL. Saran is liquefiable up to 10.5m depth below NGL which shows that this district is the most susceptible to liquefaction in seismic zone IV. All the districts of zone V have a factor of safety almost below the FOS-0.5 line which means that they are most susceptible to liquefaction. Madhubani has a sudden increase in factor of safety at 9m to 10.5m depth below NGL due to a slight decrease in fines content and drastically increase in SPT N-value.

IV. DISCUSSION

From the above data set, it is found that among the districts of seismic zone III, Buxar and Bhojpur have higher fines content than Nawada, whereas the SPT N-value of Nawada is comparatively high. Begusarai districts have comparatively lower fines content than the districts of seismic zone IV. Darbhanga district has a sudden decrease in fines content from 4.5m to 6m depth, whereas Madhubani shows two local peaks at 4.5m and 13.5m. Authors in [4] found that more than 10% of fines content values of soils are less liquefiable, but in the present study, it has been found that the fines content and SPT N- values are both critical factors for the liquefaction potential of the soil. Liquefaction may occur at higher or lower fines content values if the SPT-values are lower and higher respectively.

V. CONCLUSION

Based on the analysis results and the graphs of the FOS versus fines content and SPT N-value, the following

conclusions have been made relative to the different seismic zones of Bihar:

In seismic zone III, the soil shows comparatively more resistance to liquefaction in most cases. The FOS value is more than 1 in all cases. Bhojpur shows comparatively more resistance to liquefaction, whereas Nawada shows the lowest resistance in the mentioned zone. The soil of seismic zone IV is relatively more prone to liquefaction. The soil of Begusarai district is liquefiable up to 3.5m depth below NGL. Saran district is more vulnerable to liquefaction up to 10.5m depth below NGL. The other districts in this zone show a similar trend of liquefaction up to certain depths. All the districts in seismic zone V are most liquefiable as their FOS is much lesser than 1. Madhubani shows the peak at 10.5m depth due to a slight decrease in fines content and a sudden increase in SPT N-value. The soil of Darbhanga district has quite a lower SPT N-value and decreasing fines content with the increase in depth below NGL.

REFERENCES

- H. B. Seed and I. M. Idriss, "Simplified Procedure for Evaluating Soil Liquefaction Potential," *Journal of the Soil Mechanics and Foundations Division*, vol. 97, no. 9, pp. 1249–1273, Sep. 1971, https://doi.org/ 10.1061/JSFEAQ.0001662.
- [2] T. L. Youd *et al.*, "Liquefaction Resistance of Soils: Summary Report from the 1996 NCEER and 1998 NCEER/NSF Workshops on Evaluation of Liquefaction Resistance of Soils," *Journal of Geotechnical and Geoenvironmental Engineering*, vol. 127, no. 10, pp. 817–833, Oct. 2001, https://doi.org/10.1061/(ASCE)1090-0241(2001)127:10(817).
- [3] H. B. Seed, I. M. Idriss, and I. Arango, "Evaluation of Liquefaction Potential Using Field Performance Data," *Journal of Geotechnical*

Engineering, vol. 109, no. 3, pp. 458–482, Mar. 1983, https://doi.org/10.1061/(ASCE)0733-9410(1983)109:3(458).

- [4] K. Tokimatsu and Y. Yoshimi, "Empirical Correlation of Soil Liquefaction Based on SPT N-Value and Fines Content," *Soils and Foundations*, vol. 23, no. 4, pp. 56–74, Dec. 1983, https://doi.org/ 10.3208/sandf1972.23.4_56.
- [5] H. Bolton Seed, K. Tokimatsu, L. F. Harder, and R. M. Chung, "Influence of SPT Procedures in Soil Liquefaction Resistance Evaluations," *Journal of Geotechnical Engineering*, vol. 111, no. 12, pp. 1425–1445, Dec. 1985, https://doi.org/10.1061/(ASCE)0733-9410(1985) 111:12(1425).
- [6] S. S. C. Liao and R. V. Whitman, "Overburden Correction Factors for SPT in Sand," *Journal of Geotechnical Engineering*, vol. 112, no. 3, pp. 373–377, Mar. 1986, https://doi.org/10.1061/(ASCE)0733-9410(1986) 112:3(373).
- [7] S. K. Jain, "Indian Earthquakes: An Overview," *The Indian Concrete Journal*, vol. 72, no. 11, pp. 1–11, 1998.
- [8] S. Mukarjee and B. Lavania, "Soil Liquefaction in Nepal-Bihar Earthquake of August 21, 1988," in *4th International Conference on Geotechnical Engineering*, Missouri, USA, Mar. 1998.
- [9] T. L. Holzer, M. J. Bennett, D. J. Ponti, and J. C. T. Iii, "Liquefaction and Soil Failure During 1994 Northridge Earthquake," *Journal of Geotechnical and Geoenvironmental Engineering*, vol. 125, no. 6, pp. 438–452, Jun. 1999, https://doi.org/10.1061/(asce)1090-0241(1999)125: 6(438).
- [10] R. Liang, X. Bai, and J. Wang, "Effect of clay particle content on liquefaction of soil," in 12th World Conference on Earthquake Engineering, Auckland, New Zealand, Feb. 2000.
- [11] K. Cetin *et al.*, "Standard Penetration Test-Based Probabilistic and Deterministic Assessment of Seismic Soil Liquefaction Potential," *Journal of Geotechnical and Geoenvironmental Engineering*, vol. 130, no. 12, pp. 1314–1340, Dec. 2004, https://doi.org/10.1061/(ASCE)1090-0241(2004)130:12(1314).
- [12] P. Mandal and M. V. Rodkin, "Seismic imaging of the 2001 Bhuj Mw7.7 earthquake source zone: b-value, fractal dimension and seismic velocity tomography studies," *Tectonophysics*, vol. 512, no. 1, pp. 1–11, Nov. 2011, https://doi.org/10.1016/j.tecto.2011.09.004.
- [13] J. Dixit, D. M. Dewaikar, and R. S. Jangid, "Assessment of liquefaction potential index for Mumbai city," *Natural Hazards and Earth System Sciences*, vol. 12, no. 9, pp. 2759–2768, Sep. 2012, https://doi.org/ 10.5194/nhess-12-2759-2012.
- [14] S. Unjoh, M. Kaneko, S. Kataoka, K. Nagaya, and K. Matsuoka, "Effect of earthquake ground motions on soil liquefaction," *Soils and Foundations*, vol. 52, no. 5, pp. 830–841, Oct. 2012, https://doi.org/ 10.1016/j.sandf.2012.11.006.
- [15] C. P. Rajendran, B. John, K. Rajendran, and J. Sanwal, "Liquefaction record of the great 1934 earthquake predecessors from the north Bihar alluvial plains of India," *Journal of Seismology*, vol. 20, no. 3, pp. 733– 745, Jul. 2016, https://doi.org/10.1007/s10950-016-9554-z.
- [16] K. Praveen and L. B. Roy, "Assessment of Groundwater Quality Using Water Quality Indices: A Case Study of Paliganj Distributary, Bihar, India," *Engineering, Technology & Applied Science Research*, vol. 12, no. 1, pp. 8199–8203, Feb. 2022, https://doi.org/10.48084/etasr.4696.
- [17] D. Gautam, F. S. de Magistris, and G. Fabbrocino, "Soil liquefaction in Kathmandu valley due to 25 April 2015 Gorkha, Nepal earthquake," *Soil Dynamics and Earthquake Engineering*, vol. 97, pp. 37–47, Jun. 2017, https://doi.org/10.1016/j.soildyn.2017.03.001.
- [18] I. Towhata *et al.*, "Liquefaction perspective of soil ageing," *Geotechnique*, vol. 67, no. 6, pp. 467–478, Jun. 2017, https://doi.org/ 10.1680/jgeot.15.P.046.
- [19] S. K. Umar, P. Samui, and S. Kumari, "Reliability Analysis of Liquefaction for Some Regions of Bihar," *International Journal of Geotechnical Earthquake Engineering*, vol. 9, no. 2, pp. 23–37, Jul. 2018, https://doi.org/10.4018/IJGEE.2018070102.
- [20] S. S. Kar and L. B. Roy, "Probabilistic Based Reliability Slope Stability Analysis Using FOSM, FORM, and MCS," *Engineering, Technology & Applied Science Research*, vol. 12, no. 2, pp. 8236–8240, Apr. 2022, https://doi.org/10.48084/etasr.4689.

www.etasr.com

- [22] R. Lal Bahadur and P. K, "Study of soil erosion by using remote sensing and GIS techniques in Sone command area in Bihar, India," *Materials Today: Proceedings*, vol. 62, pp. 1664–1670, Jan. 2022, https://doi.org/ 10.1016/j.matpr.2022.04.739.
- [23] K. Praveen and L. B. Roy, "Study Of Groundwater Quality For Irrigation Purpose – A Case Study Of Paliganj Distributary, Bihar, India," *Natural Volatiles and Essential Oils*, vol. 8, no. 6, pp. 3461– 3477, 2021.
- [24] L. B. Roy and K. Praveen, "Study of ET0 by Using Soft Computing Techniques in the Eastern Gandak Project in Bihar, India—A Case Study," in *Soft Computing: Theories and Applications*, R. Kumar, C. W. Ahn, T. K. Sharma, O. P. Verma, and A. Agarwal, Eds. New York, NY, USA: Springer, 2022, pp. 515–526.
- [25] R. Ray, S. S. Choudhary, and L. B. Roy, "Reliability analysis of soil slope stability using MARS, GPR and FN soft computing techniques," *Modeling Earth Systems and Environment*, vol. 8, no. 2, pp. 2347–2357, Jun. 2022, https://doi.org/10.1007/s40808-021-01238-w.
- [26] R. Ray, S. S. Choudhary, and and L. B. Roy, "Reliability Analysis of Layered Soil Slope Stability using ANFIS and MARS Soft Computing Techniques," *International Journal of Performability Engineering*, vol. 17, no. 7, Jul. 2021, Art. No. 647, https://doi.org/10.23940/ijpe.21. 07.p9.647656.
- [27] S. Ghani and S. Kumari, "Probabilistic Study of Liquefaction Response of Fine-Grained Soil Using Multi-Linear Regression Model," *Journal of The Institution of Engineers (India): Series A*, vol. 102, no. 3, pp. 783– 803, Sep. 2021, https://doi.org/10.1007/s40030-021-00555-8.
- [28] IS 1893 (2016), Criteria for earthquake resistant design of structures, part-1 general provisions and building sixth revision. New Delhi, India: Bureau of Indian Standards, 2016.
- [29] T. F. Blake, private communication, 1996, (as cited in T. L. Youd, et al., "Liquefaction Resistance of Soils: Summary Report from the 1996 NCEER and 1998 NCEER/NSF Workshops on Evaluation of Liquefaction Resistance of Soils", Journal of Geotechnical and Geoenvironmental Engineering, vol. 127, no. 10, pp. 817-833, 2001).
- [30] M. E. Hynes and R. S. Olsen, "Influence of confining stress on liquefaction resistance," in *Physics and Mechanics of Soil Liquefaction*, Routledge, 1999.
- [31] A. F. Rauch, private communication, 1998.